*¢ VELJAN

VT6BB -B09-Bi1 - 1 R 00 - 00 *

. im ?m L Modifications

Series

Port connections
Cam ring for "P1" & "P2"
Volumetric displacement cm® /rev (in® /rev) CODE S P1 & P2
B02 = 5.8(0.35) 00 SAE 12 1 1/16"
B0O3 = 9.8(0.59) 2" SAE 4 bolt 12 UNF-2B
B04 = 12.8 (0.78) (UNC) 3/4" SAE 4 bot
BO5 = 15.9 (0.97) 01 (UNC)
B06 = 19.8 (1.21)
B07 = 22.5(1.37) MO 2" SAE 4 bolt 3/4" SAE 4 bolt
B08 = 24.9 (1.52) (METRIC) (METRIC)
B09 = 28.0 (1.71)
B10 = 31.8(1.94) Seal class
B11 = 34.9 (2.13)
B12 = 41.0 (2.50) 1 - S1 (for mineral oil)
B14 = 45.0(2.75) 4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire

resistant fluids)

Type of Shaft
1 - Keyed (Non SAE) L Design letter
3 - Splined

Direction of rotation (view on shaft end)
R - clockwise
L - counter-clockwise

Porting combination
00 - standard

00 01 02 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 P1 P1 P1 S-P1
—E =9 —E —E =9 = =y o
O os S@O | GHL 0Pz S.Pz e
@& & & & | O O I B
S S
08 09 10 11 12 13 14 15
S-P1 P1 P1 P1 S-P1 P1 P1 P1
=23 =9 =2 =2 —E —O— —o— s —3—
S S@O i 5O ¢ P2 (O i O i
P2 P2 S-P2 P2 S
S - Suction port P - Pressure port

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
P':isr:"e Series | Displacement Vp| b = 0 bar (0 psi) |p = 140 bar (2000 psi)|p = 210 bar (3000 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 210 bar (3000 psi)

in’ /rev [cm’ /rev| 9pm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

Bo2 | 035 | 58 | 230 | 87 14 59 - - 053 | 04 | 281 2.1 - -

B03 | 059 | 98 | 388 | 147 | 29 | 119 - - 067 | 05 | 362 | 27 - -

Bo4 | 078 | 128 | 508 | 192 | 433 | 164 | 397 | 150 | 093 | 07 | 523 | 39 | 1006 | 75

Bo5 | 097 | 159 | 631 | 238 | 555 | 210 | 518 | 196 | 100 | 075 | 664 | 49 | 112 | 83

P1 BO6 | 121 | 198 | 785 | 297 | 712 | 269 | 666 | 252 | 107 | 08 | 805 | 60 | 1234 | 92
Bo7 | 137 | 225 | 892 | 337 | 817 | 309 | 780 | 295 | 120 | 09 | 905 | 67 | 1402 | 104
& BO8 | 152 | 249 | 989 | 374 | 915 | 346 | 878 | 332 | 134 | 10 | 1005 | 75 | 1569 | 11.7
P2 B9 | 1.71 | 280 | 1141 | 420 | 1037 | 392 | 1000 | 37.8 | 1.47 11 | 1194 | 89 | 2360 | 176
B10 | 194 | 318 | 1261 | 47.7 | 1187 | 449 | 1151 | 435 | 16 12 | 130 | 97 | 260 | 196
Bi1 | 213 | 349 | 1385 | 523 | 1309 | 495 | 1272 | 481 17 13 | 140 | 105 | 280 | 210

Bi2 | 250 | 410 | 1627 | 615 | 1553 | 587 * * 18 14 | 1502 | 112 * *

Bi4 | 275 | 450 | 17.86 | 6756 | 17.12 | 647 o - 2.1 16 | 1542 | 115 - -

-- Not to use because internal leakage greater than 50 of theoretical flow.

*B12=210bar(3000psi)Max.Int
**B14=175bar(2500psi)Max.Int



HIGH PERFORMANCE VANE PUMP VT6BB

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL ( TYPICAL)
(1.6)6 VT6BB- B10-B04
70
——24 cst
(135 — ... 10 cst )
P1- 92""' Inlet pressure 0.9 bar abs
Viscosity 32 cSt
Y i} 65 n = 1200 RPM
(1.1) :
E N e n = 1800 RPM
o3 3 Lw= Lp + 8db (A)
E P1- P2 8
S (0.8)3 =
-5 L — i -
g &
Qo
8 (0.6)2 )
g °
3 L 55 =
= [0}
(0.3)1 2
z
o
-
50
0 50 100 150 210 240 0 10 50 100 140 175 210 240
(725) (1500) (2000) (3000)  (3500) (145)  (725) (1500)  (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow. at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5
(350)1540 ==
————— n = 2500 rpm DE
P p— n = 1800 rpm (24 cSY (300)1335 .
—— n = 1200 rpm a /
Shaft keyed N° 1
(250)1100
3 3
=
— P1-P2 | = (200)900
30 I I I B B B
o | e
N i — e o 5 (150660
8 S I R I N S S /
2 (100)440
31
o
(50) 222
0
0 35 70 105 140 175 210 240
600 1000 1200 1500 1800 2000 2500 2800

(500)  (1000) (1500)  (2000)  (2500)  (3000) (3500)

Speed n (rpm
Pressure in bar (psi) P (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs
Total hydromechanical power loss is the sum of each section at its P ( )

operating conditions.



Z. (20902) 9vz8l €
L
< oL o) (ooev1) 9992}
U S5 eeh 20 (2d+1d) xew d x dA yeys
= _ (1eq x Aaa/jw)isd x Aai/,ul spwi| anbuo) yeys
> T )
L &
L 4
i 2 9 |
a R ) 8|8
> & N 3o
o |8 4
(Ev1) / 2%
(S310H 2) 9500 % |m _ |m
Oy N o Oy
(s (R |
|
|
o m
o Am%% (1ge) _ ('88) | ('88)
W (O'9r1) '19) gt 6v'e (v2) ov'e
vLS 29t 59'6
o. (G189
= (avs ou pafey)) ) R
o 1 ®poD yeys Copet) W "elp sofey
(11} oSPXE .F ||||| sibue 'ssaid .08 [
> s oS¥XG0°0 yesl g} d'p zg/9L
< ) oS ] agevr-| Sse|y [
v = .% .FO“J 3 yeys paujdg anjoau|
= me 2 S (swel) S
w 85 -sre00
m D 13
o L~ -w (:Sbxg'1)
(0L v/sLt) @19 SVXG00 |
(@) §81°0/281°0 aTl {e62)
LL L SEE ||
o
S O A
o
auuu @n |1 we | | ]
—d 620 8€'0
(Z21)
- ('89) S0

le'e



HIGH PERFORMANCE VANE PUMP VT6BB

Port Connection : 00

1.688

(42.9)

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

*¢ VELJAN

~
S
2.0
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : 01
0.87 20.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)
3|2 5|s ﬁ 3
<= S g 3
|,
3/8-16 UNCx0.74 (19) dp. 3/8-16 UNCx0.74 (19) dp.
4 HOLES 22.0 4 HOLES
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : MO
0.87 20.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

4 HOLES

@2.0
(50.8)

M12x24 DEEP 4-HOLES

gle N @ zle
X |5 ~ © |~
- | @I~ ==
|
M10x19 dp. M10x19 dp.
4 HOLES



	Page 1
	Page 2
	Page 3
	Page 4

